1
y=—§x2+2x+4

Problem H# Problem #
. . B
Vertex of previous 6 Vertex of previous .
problem (-4,-6) 5 problem (2,-6) 4
4 3
Vertex: 3 9
2 Vertex: 1
1
y-int: -6 -5 -4 -3 -2 -1 123 4 6 8
6-5-4-3-2-1,1 1234586 -1
L y-int: 5
-2
L3 3
L4 -4
-5 -5
-B -6
— 2.2 1
y=3x“—6x—1 _ 2
Problem # ; Problem # Y= 4x x+3
. . B
Vertex of previous 5 Vertex of previous 5
problem (2,6) 4 problem (1,-4) A
3
5 3
1 2
Vertex: Vertex: 1
66-4-3-2-1,1 123458
i 6-5-4-3-2-1,1 123458
y-int: -2 y-int:
3 2
-4 -3
-5 -4
-F -5
-B
1 2
Problem # y = §xz — 2% —13 Problem # y=x°+4x
Vertex of previous 6 Vertex of previous G
problem (-2,4) 5 problem (3,-6) 5
4 4
3 3
Vertex: 2 Vertex: 2
1 1
y-int: 654321 123456 |yint fp #3241 123496
-2
_2 _3
_3 4
_4 _5
_5 —6




y=—-x%>—8x—18 y=-2x*>+4x+4
Problem # Problem # B
G 5
Vertex of previous 5 Vertex of previous 4
problem (-2,-4) 4 problem (-4,-2) 3
3 2
Vertex: 2 1
1 Vertex:
—6—5—4—3—2—11 2 3 4 5 8
_— -6 -5 -4 -3 -2 -1 12 3 4 5 8
y-lnt. 1 _9
Lo y-int: -3
L3 -4
_4 _5
_: 5
y=-3x?—-6x+1 1 2 43 3
Problem # Problem # y= Zx X 2
N 5 —_
Vertex of previous 5 Vertex of previous 2
problem (1,6) 4 problem (-1,4) 4
3
2 3
2
Vertex: ! Vertex: 1
6 45 -4 -3 -2 -1 1 2 3458
- —6—5—4—3—2—11 2 3 4 5 8
-int: -2 -int: i
y . y-int 2
_4 -3
-5 -4
- =5
-6
Problem # _ 2 Problem #
— y=-3% +2x - y=—=x%42x—2
Vertex of previous 5 Vertex of previous 4
problem (-3,-6) 5 problem (3,3) 6
4 5
3 4
Vertex: 9 Vertex: 3
1 2
. 1
y-int; -6 -5 -4 -3 -2 —11 2 3 4 5 8 y-int:
. —6—5—4—3—2—_11 12 34 5 &
_3 2
4 3
_5 -4
-F 5




